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| OPTION - A
( Plant Physiology and Metabolism )
Paper : BOT-HG-3016/RC-3016

Answer the following as directed :

o7 STl Ted el ¢
1. Choose the correct answer of the following :
(any seven) : 1x7=7

wee MA@ wa Ge<! A Sfeedt ¢ (Rraeat
3ebY)

(i) Which of the following forms of water is
absorbed by plants ?

(a) Run away water

(b) Hygroscopic water

(c) Capillary water

(d) All of the above

SFR (PRRY AN Bfem ciEe SRR A2
(@ R @R A

(b) TS AR} A

(c) T Al

(d) SR AIFCARE

(i) What is root pressure ?

JeToief 52
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(iii) Transpiration is a necessary
(Fill in the blank)

AT (202 G5! AT |
(Tl 212 2F9 7)

(iv) What is meant by ‘antitranspirant’ ? -

‘afopie#Es’ Wi & gt Tw e

(vy Who proposed Active K* transport
mechanism for opening and closing .of
stomata ?

(a) Steward

(b) Sayre

(c) Loyd

(d) Fujino

Sq9F SCALA S [RGB THCF (I Al
BRI S AR ©g SHspiEEe 2

(a) fBare

(b) B

(c) TG

(d) Tfew

(vi) Name- one instrument to measure the
rate of transpiration in plants.
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W@WWWWQ@%WW
et |

>(vii) Dieback disease is caused due to
deficiency of

(a) zinc

(b) copper

(c) boron

(d) iron

WAEE (@i 58 Sros =2
(a) &

(b) AR

(c) <4

(d) CTR

(viii) Mass flow theory of organic solute
translocation was proposed by

(a) Fenson

(b) Spanner

(c) Munch

(d) None of the above

1o T #Af3a%1 TYZ b TN Bis] A1Rfee
(a) (b
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(b) =S
(c) A
(d) G791 GBI¢ 92T

(ix) Vernalization was discovered by
(a) Garner and Allard
(b) Lysenko
(c) 'Kurosawa
(d) Miller
e SR S
(@) SREER 9@ 9E 6
(b) FIRGE’
(c) TG
(d) e
(x) What are thyllakoids 2
ATHTROAR B2
(xi) Assimitatory powers produced during

photosynthesis are

(a) ATP and NADPH;
(b) HpO and O,

3 (Sem-3/CBCS) BOT HG/RC/G 5 B Contd!



BIKALI COLLEGE LIBRARY

(c) RuDP and RuMP
(d) CegH;20¢ and PGAL

AETeead dferare Tesm (@ SeiEee
*f& (2®

(a) ATP == NADPHQ

(b) HyO 9% O

(c) RuDP 9<% RuMP

(d) CgH;20g S% PGAL
(xii) Respiratory quotient (RQ) is represented

by

(@ C/N

(b) N2/ O,

(c) 0Ox/CO;

(d) CO/0;

X WS (RQ) 2

(@) C/N

(b) Ny/O,

() O/ CO;

(d) COy/0s
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2. Write short notes on the following: (any
four) 2x4=8

(a) Osmosis

(b) Guttation

(c) Chloroplast

(d) Krantz anatomy

(e) Types of transpiration

(f) Abscissic acid '

(g) Photosynthetic pigments
"~ (h) Day neutral plants

wee WAIERE 5y (O 11t ¢ (Rieean sifaor)
(@) fe

s

(c) FIAR A 2T

(d) TG Tl AEH

(e) ATETRE BE

(N GRS =

(g) FNCENFHCEHIT WGP &

(h) v s Sfen
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3. Write short notes on the following: (any
three) S5x3=15
(a) Components of water potential |
(b) Cohesion of water and transpiration

pull theory |
(c) Photorespiration
(d) Mechanism of enzyme action
(e) Auxins
() Anaerobic respiration
(g) Vernalization
(h) CAM
oo AR 5 (Gt iRl ¢ (et fofor)
(@) TERSI TAMTTIR
(b) N &G SR ATIA Ie1 ToAM
(c) AR |
(d) ey [y
(e) _Wﬁﬁ
() SRS P
(g) TR
(h) CAM
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"4, Answer any three of the following
questions : 10x3=30

Wfﬁmmﬁoﬁﬁfﬁﬂa@@mfz

(a) What are different sources of nitrogen
for higher plants ? Describe the
biological nitrogen fixation. 2+8=10

Twoasta Tigwa AN F2p0ea [fon Tepg 6
2 (G Aizscen Rfeswds [am a3 |

(b) What is translocation of organic solute ?
Describe the mechanism  of
translocation of organic solute in plants
with the help of pressure flow model.

toa Ty AR 7 bl 2[R TER RIES
Sfewe ter uy AR Gt 30w 5 |

(c) Describe different types of factors
affecting the photosynthesis.

AR goi (oeeal [Rfon s
PIIFAYZ 1 [ |

(d) What is photosynthesis ? Give a
detailed account of cyclic and non-cyclic

electron transport in photosynthesis.
2+4+4=10
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ACARRCET 2 AR bE 1 W
oA 20ETR0A PR [t =g = |

(e) Describe the chemical process of EMP
pathway. Write about net product of
EMP pathway. 8+2=10
EMP ¥ IoEfRS 2eieq 3 41 i EMP
A e Yo SeoAvER [Faca fod |

() Give a detailed account of the Krebs
cycle. Mention its significance.

(@R 5o Rege R fral | 2319 wieeil Trae
Al |

(g9 What is photoperiodism ? Discuss how
the plants are classified on the basis of
photoperiodism. ' 2+8=10
e e e e afs ore
TR gote S <} Tfewnzs Fuce
(TR N (R DDA 4 |

(h) What is plant growth regulator ?
Discuss the physiological role of
Gibberellins in plants.

fen 3 R (S 2 Sfere fTaikfema <9l
SR Sl 341 |
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OPTION -B

( Environmental Biotechnology)

Paper : BOT-HG-3026

1. Answer the following as directed : (any
seven) 1x7=7
o wRpiie Fosie enprza Oel Al ¢ (Rl
qre5!)

(@) Which one of the following is not a
natural pollutant ?

t SO
i) CO
(iii) COs

(iv) Pesticides
CEe @El diFios AEs T=
1) SO
(i) CO
(i) CO,
(iv) IS
() What is the full form of DDT ?
DDT I =¥ i f2

(c) In which year the UNESCO launched
the ‘Man and Biosphere Programme’ ?
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UNESCO 2% (&9 If® ‘9 o< (Sasss

TP 2 Ffafee 2
(d) Minamata disease caused due to
pollution. | (Fill in the blank)
fSrse G1ist AT A 2 |
(T 212 939 F1)
(e) Write two names of bacterial
biofertilizers..
R AR 2 IR 91 YRy @c3RaiE 9
fer=it |

(/ Which one of the following 1s a
xenobiotic compound ?

(i) Polychlorinated biphenyls
(i) . Peroxyacetyl nitrate
(iii) Chlorofluorocarbon

(iv) Ultraviolet ray
fre @W! EaRbE smid 21

() AFREwS AR
(i) CoRfHafbbize TG
(iii) FFIDA

(iv) Sferaet I
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(g) Lignosulfonates are released from

industry. (Fill in the blank)
GRoOGERC TrieE | [efe =3
(=T} 212 279 1)

(h) What is ozone ?
o fF2

() Which one of the following is a unit of
radioactivity ?

() ppm

(i) curie

(i) decibel

(iv) nanometer

ARG (@G (GG GF 2

() forfetas
(i) T
(iii) OO
(iv) TR
() Where is Chilika lake situated ?
@i oize BF 2w SREe ?

(k) Write the full form of WTO..
WTO T 575 =915 ot |
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()  Which one of the following is a Ramsar
site ?

(i) Kaziranga National Park
(i) Majulee River Island

(iii) Deepor Beel

(iv) Brahmaputra River

frare (@ ZW I’ 2 Zhia aifFe
() <ifeae I S
(ii) Gl Trale
(iii) "#E Re
(iv) @
2. Write short answers : (any four) 2x4=8
s o ©ed Al ¢ (FRepiean s1f¥or)

(a) Advantages and disadvantages of
aerobic ponds.

Wﬁ@a%wﬁﬁmwﬂﬁ—tﬁw

(b) What is radionuclides ? Give one
example.

@fafReige 2 39 961 Trizsd o1 |

(c) What do you mean by bioconcentration ?

ToRETRRe W 6 g 2
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(d) Write a note on biomining.

toadad TEcwm @it G el |

(e) Write a very short note on Brundtland
Report.

mewﬁmmm
=72l |

() Principles of Forest Conservation Act,
1972.
Ty A SR (554R) A 1 9 —Wfépm
(g) Silent Valley Movement.
T Torordl SUCHIE |

(h) Xylanases
GRS

3.  Write notes on any three of the following :
| 5x3=15

ficare Rzl fSfAbT ¢sa® (it forat ¢
(a) Global environmental problems
3 SIfRC TR TR

.'(b) Upflovw anaerobic sludge blanket
reactors -

T SRS (3 9 [{eaes
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(c)

(d)

(e)

@

(h)

Role of nitrogenous compounds in air
pollution

ARGCETIS ML Y ATINS Bl
Trickling filter

e fFo=

Corporate social responsibility

Salient features of Kyoto Protocol, 1997
TN 20Fa9 (Soda) T A4 [FBFTIZ

Constitution of Central and State
Pollution Control Boards

@@ﬂmm@%mﬁmﬁmm
M1

Treatment scheme of waste water of
tannery industry '

G Soisie e “mE sAffedsa afe

4. Answer afzy three of the following :

Rz fofabr e Tel fedll ¢

(@)

What is greenhouse effect ? Describe
the possible environmental effects of
global warming. Write briefly how

greenhouse effect can be minimized.
2+5+3=10
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GIeE 52 AfR9oal [F2 e TreweR A
J*fqrre & & oo 9t «iE &= @EE
P 9% /4ol 7R @R 7« s
qefeq) <=4 |

(b) What are pollutants ? Describe the fate
of different pollutants in the

environment. 2+8=10
avas &2 e [fea W s &
3efqt =41 |

(c) Describe the Montreal Protocol (1987).
How does it differ from recommendations
of Rio-Earth Sumit-UNCED (1992).
7+3=10
fGe 26°Fe (Soba) I 54t | faor” =iief pive—
UNCED (5%5R) ¥ 2R/ ¢ice 299
@IS AL e Fl

(d) What do you. mean by sustainable
development ? Describe the impact of
sustainable development on gross
national productivity and quality of life.

2+8=10
Iz A S [ ol 2 qarwy [ 792
(T T % G Awed G299
(FALACE Ao FRA 2417 =2 &4t |
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(e) What are xenobiotic compounds ? How
does xenobiotic compound affect the
living organisms ? Give suggestive
measures to mitigate this problem

through bioremediation. 2+3+5=10

(GREG 2 W 2 emaats smid @is
GIHE S0 (I FAFE DRI AN ?
ARARCACIDR @& G2 TP (S 7 R
if3 IR 4 |

() Write a descriptive note on Water
Pollution (Prevention and Control) Act,
1981.

o o (AfStain S HEEd) =R, Sovd
SHCE 9ol [Rge Gt Tt

(g9 Describe briefly the role and
participation of women in

environmental issues in India.

i A FICE HACE I |
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(h) Write an essay on National
Environmental Policy, 2006.

T~k TS, 2000 FHE b o1 FHA |
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